
Appendix I: More details on mechanical turk interface for the various steps of the
question and answer-options creation process





Figure 6: Instructions and Interface for the Step 1 of the dataset creation process. In this step, we request turkers
to write a question and its correct answer for a given paragraph. We emphasize the requirement for multi-sentence
questions, and additionally ask them to indicate which sentence ids would be needed for answering the composed
question. We also provide two example paragraphs with 3 multi-sentence questions each and the corresponding
answers. We also provide an explanation indicating why these questions fit our criteria. Lastly, we provide an
example of bad question before asking them to compose questions. We ask them to write 3-5 questions per
paragraph but the figure only shows the form for one question.



Figure 7: Instructions and Interface for the Step 2 of the dataset creation process. This step was included to ensure
that the questions collected from the previous step are indeed multi-sentence. In this step we show a sentence and
a question to the turkers and ask them if they can answer the question using only the information present in the
shown sentence. In the instructions, we discourage them from using background knowledge since some of our
paragraphs are from non-fictional sources. We also provide examples along with an explanation. The bottom part
of the figure shows the form for one sentence-question pair.





Figure 8: Instructions and Interface for the Step 3 of the dataset creation process. This step was included to
collect correct and in-correct answer options for the questions in our dataset. In the instructions we define what we
mean by correct and incorrect answer options– correct options answer the given question correctly and completely,
whereas incorrect options do not answer the question but are non-trivial and cannot be easily eliminated as an
incorrect answer without reading the passage. We also show examples of good and bad inputs for both along with
explanations. The bottom part of the figure shows the form for entering correct and incorrect answer-options for
one paragraph-question pair.



Figure 9: Instructions and Interface for the Step 4 of the dataset creation process. In this step we ask the annotators
to read the questions and answer-options, and indicate if they find any errors in them. We also ask them to select
all answer-options that correctly answer the question (illustrated through examples). Any possibly discrepancies
or errors were later reviewed and corrected manually. The bottom part of the figure shows a sample form for one
question.



Appendix II: Examples from the corpus

Sent 1: Dirk Diggler was born as Steven Samuel Adams on April 15, 1961 outside of Saint Paul, Minnesota.
Sent 2: His parents were a construction worker and a boutique shop owner who attended church every Sunday and
believed in God.
Sent 3: Looking for a career as a male model, Diggler dropped out of school at age 16 and left home.
Sent 4: He was discovered at a falafel stand by Jack Horner.
Sent 5: Diggler met his friend, Reed Rothchild, through Horner in 1979 while working on a film.
Question: How old was Dirk when he met his friend Reed?
A)* 18 B) 16 C) 22
Reasoning needed: Temporal and mathematical reasoning
One needs to identify that Dirk was born in 1961 (Sent 1) and he met Reed in 1979 (Sent 5). At that time he must have
been 18 (=1979-1961) years old.
Sent 1: The hijackers attacked at 9:28.
Sent 2: While traveling 35,000 feet above eastern Ohio, United 93 suddenly dropped 700 feet.
Sent 3: Eleven seconds into the descent, the FAA’s air traffic control center in Cleveland received the first of two radio
transmissions from the aircraft.
Sent 4: During the first broadcast, the captain or first officer could be heard declaring “Mayday” amid the sounds of a
physical struggle in the cockpit.
Sent 5: The second radio transmission, 35 seconds later, indicated that the fight was continuing.
Sent 6: The captain or first officer could be heard shouting: “Hey get out of here-get out of here-get out of here.”
Sent 7: On the morning of 9/11, there were only 37 passengers on United 93-33 in addition to the 4 hijackers.
Sent 8: This was below the norm for Tuesday mornings during the summer of 2001.
Sent 9: But there is no evidence that the hijackers manipulated passenger levels or purchased additional seats to
facilitate their operation.
Sent 10: The terrorists who hijacked three other commercial flights on 9/11 operated in five-man teams.
Sent 11: They initiated their cockpit takeover within 30 minutes of takeoff.
Sent 12: On Flight 93, however, the takeover took place 46 minutes after takeoff and there were only four hijackers.
Question: Which two factors were different between the three other hijacked planes and United 93?
the day of the takeover
A) The amount of time that passed before the takeover started
B)* United 93 took longer and had less hijackers
C) The airline operating the planes
D) The weather and fuel used by the airplane
E) The navigation system used by the planes
Reasoning needed: Discourse relation (contrast)
One needs to identify that the discourse marker however in Sent 12 indicates a contrast relation between Flight 93 and
the flights mentioned in Sent 10. Also, only in Sent 12 indicates that the number of hijackers were fewer than in the
contrasted other flights.
Question: What was below average for this particular day?
A) the number of passengers in the first class.
B)* the number of passengers on board.
C) the number of hijackers
D) the amount of air traffic in the skies
E) the temperature
Reasoning needed: Event coreference
One needs to identify that This in Sent 8 co-refers to (event of) number of passengers in Sent 7. Note that Sent 12
contains only four hijackers and understanding that only indicates a smaller number of entities than expected (as in
previous question), might mislead a system into believing that (C) is the correct answer.

Figure 10: Examples from our MultiRCcorpus. Each example shows relevant excerpts from a paragraph; multi-
sentence question; and corresponding answer-options. The correct answer(s) is indicated by a *. Each example
also contains a list of reasoning phenomenon needed to answer that question.



Sent 1: Suddenly, Amy screamed.
Sent 2: I whirled around and threw up my arm just in time to knock Dvorov away.
Sent 3: His eyes were glowing red, and he had bared a set of fangs that could probably take my hand off.
...
Sent 8: On the floor was Dvorov’s head, separated from his body by several feet and a growing puddle of dark blood.
Sent 9: Nepthys stood over him with a blue sword in his hand.
Sent 10: It flashed in the strobe where it wasn’t streaked with Dvorov’s blood.
Question: Who cut off Dvarov’s head?
A)* Nepthys B) the wolf
Reasoning needed: Implicit semantic role (agent) and causation
From sentences 8–10, indicate that Nepthys stood over Dvorov’s (dead) body with a sword which was streaked with
Dvorov’s blood. Therefore, one can infer that the blood on the sword must have been caused by the action of killing of
Dvorov and that Nepthys is the implicit agent of this action.
Question: What was the weapon used to separate Dvorov’s head from his body?
A) a hook B)* a blue sword C)* a sword
Reasoning needed: Implicit semantic role (instrument) and causation
From sentences 8–10, indicate that Nepthys stood over Dvorov’s (dead) body with a sword which was streaked with
Dvorov’s blood. Therefore, one can infer that the blood on the sword must have been caused by the separation of
Dvorov’s head from his body and that the sword must have been the implicit instrument of this action.

Figure 11: More example questions and corresponding reasoning phenomena from our MultiRCcorpus.


